2B SSP Dy FHILU— @ESYFYY (RS — LD
IBfi1 E 2 wms | Rl FEF—L s/G | T4 | B=
1 BB A 2 5 AGU- 17 e N
2 WA HE 2 BE (FADN 33 | 6 6
3 XEB B8 8 = F—A SKY 14 5 5
4 m IR 2 BE FAOL 27 | 4 4
5 =0 B 7 2 F—/ SKY 14 | 4 4
o MH 1% = YIS - FC S 42 6 3
o’ % H = 2 = F—A SKY 14 3 3
8 WK 7 18 5 11PM S 40 4 2
o FE A0t 2 Ly RIPuty 33 | 2 2
10 Mk} =] = YIS - FC 30 2 2
11 1858 = 5 = AGU- 29 2 2
11 NE Ei8 5 2 FMS 29 2 2
11 0@ R 30 | = FBS+0-D 20 | 2 2
11 F# = o6 = mEAYII 29 2 2
15 HlB FH#Z 55 Ly FDOpPpvtY 27 2 2
16 9% B B H35—2 FC o4 | 2 2
16 PEE EA = Ly RDPyEY o4 | 2 2
18 BH RB¥E 99 = AGU- 23 2 2
19 BHX, ESD 5 = F—I SKY 14 2 2
20 T HE 10 | = 11PM s | 44 | 2 1
20 =8 o 3 2 11PM s | a4 | 2 1
22 B FHE 55 IS - FC S 41 2 1
23 Pa & e 5 11PM S 40 2 1
24 B m— 5 %5 39 | 1 1
o5 5% = 5 $35—2 FC 30 | A 1
25 RE B8 22 5 OwvyYI)L 30 1 1
27 X, P 5 AGU- 29 1 1
o7 TE Bith = Ly RDPyEY 20 | 1 1
29 K 7 = AGU- 28 | 1 1
29 2K BN 5 YIS - FC 28 1 1
29 =2 RS 5 YIS - FC 28 1 1
29 B H® = $35—2 FC 28 | 1 1
33 A2 D Y Ly RDPyEY e | 27 | 3 1
33 AN =FE e = OwvyVI)IL 27 1 1
33 e BiZ 11 = OwvyVI)IL 27 1 1
36 5T E AR 2 PYUFMS o5 | 1 1
37 58 W= B Ly kD PyEY 24 | 1 1
37 f[dm &% 18 = OvyVI)IL 24 1 1
39 ERAREIZ 26 = AGU- 22 1 1
39 STARAES 5 BE (FADN 20 | 1 1
41 B Al 6 5 F—1 SKY THEE 1




